# MATRIX REPRESENTATION OF THE SECOND ORDER RECURRENCE $\{u_{kn}\}$

EMRAH KILIÇ<sup>1</sup>, NEŞE ÖMÜR<sup>2</sup>, AND YÜCEL TÜRKER ULUTAŞ<sup>3</sup>

ABSTRACT. In this note, we consider a generalized Fibonacci sequence  $\{u_n\}$ . Then give a generating matrix for the terms of sequence  $\{u_{kn}\}$  for a positive integer k. With the aid of this matrix, we derive some new combinatorial identites for the sequence  $\{u_{kn}\}$ .

## 1. INTRODUCTION

Let r be a nonzero integer such that  $D = \sqrt{r^2 + 4} \neq 0$ . The generalized Fibonacci and Lucas sequences  $\{u_n\}$  and  $\{v_n\}$  are defined by the following equations

$$u_{n+1} = ru_n + u_{n-1} \tag{1.1}$$

and

$$v_{n+1} = rv_n + v_{n-1} (1.2)$$

where  $u_0 = 0$ ,  $u_1 = 1$  and  $v_0 = 2$ ,  $v_1 = r$ , respectively.

When r = 1,  $u_n = F_n$  (the *n*th Fibonacci number) and  $v_n = L_n$  (the *n*th Lucas number).

If  $\alpha$  and  $\beta$  are the roots of the equation  $x^2 - rx - 1 = 0$ , then the Binet formulas of the sequences  $\{u_n\}$  and  $\{v_n\}$  have the forms

$$u_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}$$
 and  $v_n = \alpha^n + \beta^n$ ,

respectively.

Matrix methods are very convenient for deriving certain properties of linear recurrence sequences. Some authors have used matrix methods or other methods to derive some identities, combinatorial representations of linear recurrence relations etc. [3, 5, 9, 13, 14, 15, 18, 22]. In [23], the author formulate the nth power of an arbitrary  $2 \times 2$  matrix. In [1], the author considers functions over  $2 \times 2$  matrices other than addition and multiplication and then he proves that any positive integer power of such a matrix could be expressed as a linear combination of the matrix and the identity matrix. In [3], the author considers a  $2 \times 2$  companion matrix and

<sup>2000</sup> Mathematics Subject Classification. 11B37, 15A36.

Key words and phrases. Second order linear recurrence relation, Matrix methods.

he derives some known relations involving Fibonacci numbers as well as many new relations. In [18], the author gives a new formula for the nth power of an arbitrary  $2 \times 2$  matrix and derive various matrix identities and formulae for the nth power of particular matrices to obtain various combinatorial identities.

Recently some authors gave an interesting relationships between the specially multiplicative functions and the second order recurrence  $\{u_n\}$  by considering their matrix representations. It is worth noting that the specially multiplicative functions satisfy a matrix recurrence relation similar to the sequence  $\{u_n\}$ . For more details, we refer to [7, 19]. For similar connections between kth order linear recurrences and rational arithmetical functions are also derived in [21, 12].

In [16], the authors derive the following recurrence relations for the sequences  $\{u_{kn}\}$  and  $\{v_{kn}\}$  for  $k \geq 0$  and n > 1,

$$u_{kn} = v_k u_{k(n-1)} + (-1)^{k+1} u_{k(n-2)}$$
(1.3)

and

$$v_{kn} = v_k v_{k(n-1)} + (-1)^{k+1} v_{k(n-2)}$$

where the initial conditions of the sequences  $\{u_{kn}\}$  and  $\{v_{kn}\}$  are 0 and  $u_k$ , and 2 and  $v_k$ , respectively.

If  $\alpha(k)$  and  $\beta(k)$  are the roots of equation  $x^2 - v_k x + (-1)^k = 0$ , then the Binet formulas of the sequences  $\{u_{kn}\}$  and  $\{v_{kn}\}$  are given by

$$u_{kn} = u_k \frac{\alpha(k)^n - \beta(k)^n}{\alpha(k) - \beta(k)}$$
 and  $v_{kn} = \alpha(k)^n + \beta(k)^n$ ,

respectively. It is clear that  $\alpha(1) = \alpha$  and  $\beta(1) = \beta$ . From the Binet formulas, one can see that

$$u_{-kn} = (-1)^{kn+1} u_{kn} \text{ and } u_{2kn} = v_{kn} u_{kn}.$$
 (1.4)

# 2. MATRIX REPRESENTATIONS FOR THE SEQUENCE $\{u_{kn}\}$

In this section, we define a  $2 \times 2$  matrix A and then we give some new results for the sequence  $\{u_{kn}\}$  by matrix methods.

Define the  $2 \times 2$  matrix A as follows:

$$A = \left[ \begin{array}{cc} v_k & (-1)^{k+1} \\ 1 & 0 \end{array} \right].$$

By an inductive argument and using (1.3), we get

$$A^{n} = \frac{1}{u_{k}} \begin{bmatrix} u_{k(n+1)} & (-1)^{k+1} u_{kn} \\ u_{kn} & (-1)^{k+1} u_{k(n-1)} \end{bmatrix}.$$

Clearly the matrix  $A^n$  satisfies the recurrence relation: for n > 0

$$A^{n+1} = v_k A^n + (-1)^{k+1} A^{n-1}, (2.1)$$

where  $A^{0} = I, A^{1} = A$ .

If we use the equation (2.1), we can write

$$v_k A^{n+1} - \left(v_k^2 - (-1)^k\right) A^n + A^{n-2} = 0. {(2.2)}$$

From the (1,1)-entries of the matrix equation (2.2), we get

$$v_k \frac{u_{k(n+2)}}{u_k} - \left(v_k^2 - (-1)^k\right) \frac{u_{k(n+1)}}{u_k} + \frac{u_{k(n-1)}}{u_k} = 0.$$
 (2.3)

Thus we have

$$v_k = \left( \left( v_k^2 - (-1)^k \right) u_{k(n+1)} - u_{k(n-1)} \right) / u_{k(n+2)}. \tag{2.4}$$

The simple form of equation (2.4) can be found in [10, 11].

For  $n \geq 0$ , if we consider the fact that  $\det(A^n) = (\det A)^n$ , then we obtain the generalized Cassini identity:

$$u_{k(n+1)}u_{k(n-1)} - u_{kn}^2 = \begin{cases} (-1)^{kn}u_k^2 & \text{if } k \text{ is odd,} \\ (-1)^{kn+1}u_k^2 & \text{if } k \text{ is even.} \end{cases}$$

For example, for k = r = 1, we get  $F_{n+1}F_{n-1} - F_n^2 = (-1)^n$  (see page 74, [17]).

By the Binet formulas, one can see that

$$u_{k(n+1)} + (-1)^{k+1} u_{k(n-1)} = u_k v_{kn}. (2.5)$$

The eigenvalues of  $A^n$  are the roots of the equation

$$u_k^2 \lambda^2 - u_k (u_{k(n+1)} + (-1)^{k+1} u_{k(n-1)}) \lambda + (-1)^{kn} u_k^2 = 0$$

or by (2.5), we may rewrite it as

$$\lambda^2 - v_{kn}\lambda + (-1)^{kn} = 0.$$

Thus the characteristic roots of  $A^n$  are given by

$$\lambda_{1,2} = \left(v_{kn} \pm \sqrt{v_{kn}^2 + 4(-1)^{kn+1}}\right)/2.$$

Now we shall derive some results for  $\{u_{kn}\}$  by matrix methods.

Theorem 1. For all  $n, m \in \mathbb{Z}$ ,

$$u_k u_{k(n+m)} = u_{km} u_{k(n+1)} + (-1)^{k+1} u_{k(m-1)} u_{kn}.$$
 (2.6)

*Proof.* Since  $A^{n+m} = A^n A^m$  and after some simplifications, we obtain

$$\begin{split} A^{n+m} &= \frac{u_{km}}{u_k^2} \left[ \begin{array}{cc} u_{k(n+2)} & (-1)^{k+1} u_{k(n+1)} \\ u_{k(n+1)} & (-1)^{k+1} u_{kn} \end{array} \right] \\ &+ \frac{u_{k(m-1)}}{u_k^2} \left[ \begin{array}{cc} (-1)^{k+1} u_{k(n+1)} & u_{kn} \\ (-1)^{k+1} u_{kn} & u_{k(n-1)} \end{array} \right]. \end{split}$$

Thus we obtain

$$u_k A^{n+m} = u_{km} A^{n+1} + (-1)^{k+1} u_{k(m-1)} A^n$$
 (2.7)

which, by equating (2,1)-entries of (2.7), gives the conclusion.

When m = n in (2.6), we obtain

$$u_k u_{2kn} = u_{kn} \left( u_{k(n+1)} + (-1)^{k+1} u_{k(n-1)} \right) \tag{2.8}$$

which, by (1.4), gives the equality in (2.5) for  $u_{kn} \neq 0$ . By equating (1,1)-entries of the equality (2.7) and by taking m = n, we obtain

$$u_k u_{k(2n+1)} = u_{k(n+1)}^2 + (-1)^{k+1} u_{kn}^2. (2.9)$$

From the above results, we obtain

$$u_k A^{2n} = u_{kn} A^{n+1} + (-1)^{k+1} u_{k(n-1)} A^n$$

and so the general cases of the well known divisibility properties for the Fibonacci numbers (see [17]):

$$u_{kn} \mid u_{2kn} \text{ and } v_{kn} \mid u_{2kn}.$$
 (2.10)

Theorem 2. For k > 0 and  $n \in \mathbb{Z}$ ,

$$u_{k(2n+1)} + u_{k(2n-1)} = \frac{1}{u_k} \begin{cases} u_{k(n+1)}^2 + 2u_{kn}^2 + u_{k(n-1)}^2 & \text{if } k \text{ is odd,} \\ u_{k(n+1)}^2 - u_{k(n-1)}^2 & \text{if } k \text{ is even,} \end{cases}$$
(2.11)

and

$$u_{k(2n+1)} - u_{k(2n-1)} = \frac{1}{u_k} \begin{cases} u_{k(n+1)}^2 - u_{k(n-1)}^2 & \text{if } k \text{ is odd,} \\ u_{k(n+1)}^2 - 2u_{kn}^2 + u_{k(n-1)}^2 & \text{if } k \text{ is even.} \end{cases}$$

$$(2.12)$$

*Proof.* Considering the (1,1) and (2,2)- entries of the matrix equation  $A^{2n} = (A^n)^2$ , we get

$$u_k u_{k(2n+1)} = u_{k(n+1)}^2 + (-1)^{k+1} u_{kn}^2,$$
 (2.13)

$$u_k u_{k(2n-1)} = u_{kn}^2 + (-1)^{k+1} u_{k(n-1)}^2.$$
 (2.14)

By adding and substracting of (2.13) and (2.14) side by side, we have the conclusion.

Corollary 1. For k > 0 and  $n \in \mathbb{Z}$ ,

$$u_{2k}u_{2kn} = u_{k(n+1)}^2 - u_{k(n-1)}^2. (2.15)$$

Proof. If we combine the equalities (2.11) and (2.12), then we can write

$$u_k \left( u_{k(2n+1)} + (-1)^k u_{k(2n-1)} \right) = u_{k(n+1)}^2 - u_{k(n-1)}^2. \tag{2.16}$$

Using the recurrence relation  $\{u_{kn}\}$  in (2.16), we obtain

$$u_k(v_k u_{2kn}) = u_{k(n+1)}^2 - u_{k(n-1)}^2. (2.17)$$

The conclusion is clear from (1.4).

For any integer p,  $A^{2n} = A^{n+p}A^{n-p}$ . Here if we consider the (2,1)-entries of the product  $A^{n+p}A^{n-p}$  and the matrix  $A^{2n}$ , we get

$$u_k u_{2kn} = u_{k(n+p)} u_{k(n-p+1)} + (-1)^{k+1} u_{k(n+p-1)} u_{k(n-p)}.$$

Since det  $A \neq 0$ , we can write the matrix  $A^{2n}$  as  $A^{2n+m}A^{-m}$  and then by equating (2,1)-entries of this equation, we have

$$u_k u_{2kn} = u_{k(2n+m)} u_{-k(m-1)} + (-1)^{k+1} u_{k(2n+m-1)} u_{-km}.$$
 (2.18)

Since  $u_{-km} = (-1)^{km+1} u_{km}$ , we can write

$$u_k u_{2kn} = u_{k(2n+m)} u_{k(1-m)} + (-1)^{k(m+1)} u_{k(2n+m-1)} u_{km}.$$
 (2.19)

By a similar argument, we may obtain

$$u_{k(2n+m)}u_{k(1-m)} + (-1)^{k(m+1)}u_{k(2n+m-1)}u_{km}$$

$$= u_{k(n+m)}u_{k(n-m+1)} + (-1)^{(k+1)}u_{k(n+m-1)}u_{k(n-m)}.$$
(2.20)

# 3. Some new combinatorial representations for $\{u_{kn}\}$

In this section, we consider the binomial expansion of  $A^n$  for some n and then derive some new combinatorial representations for the sequence  $\{u_{kn}\}$ .

Theorem 3. For n > 0,

$$\sum_{t=1}^{n} \binom{n}{t} (-1)^{n-t+1} v_k^t u_{k(n-t)} = \begin{cases} 0 & \text{if } n \text{ is odd,} \\ 2u_{kn} & \text{if } n \text{ is even,} \end{cases}$$
(3.1)

and

$$\sum_{t=1}^{n} {n \choose t} (-1)^{n(k+1)-t} v_k^t u_{k(n-t)} = \begin{cases} 0 & \text{if } n \text{ is odd,} \\ 2u_{-kn} & \text{if } n \text{ is even.} \end{cases}$$
(3.2)

Proof. If we consider the matrix relation

$$A^{n} = \left(v_{k}I + (-1)^{k+1}A^{-1}\right)^{n}$$

$$= \sum_{t=0}^{n} \binom{n}{t} (-1)^{(k+1)(n-t)} v_{k}^{t}A^{-n+t}, \tag{3.3}$$

and equating (2, 1)-entries of the equality (3.3), we get

$$u_{kn} = \sum_{t=0}^{n} {n \choose t} (-1)^{n-t+1} v_k^t u_{k(n-t)}.$$

Thus one can easily obtain (3.1).

Similarly, equating the (1,2)-entries of the equality (3.3), we get (3.2). This completes the proof.

Theorem 4. For n, k > 0,

$$u_{2kn} = \sum_{t=0}^{n} {n \choose t} (-1)^{(k+1)(n-t)} v_k^t u_{kt}.$$

*Proof.* If we write  $A^{2n}$  in the form

$$A^{2n} = \sum_{t=0}^{n} {n \choose t} (-1)^{(k+1)(n-t)} v_k^t A^t, \tag{3.4}$$

then, by equating the (2,1)-entries of the equality (3.4), we have the conclusion.

Theorem 5. For n > 0,

$$u_{k(2n+1)} = \sum_{t=0}^{n} {n+1 \choose t+1} (-1)^{(k+1)(n-t)} v_k^{t+1} u_{kt} + (-1)^{n(k+1)} u_k.$$
 (3.5)

*Proof.* Since  $A^{2n+1} = AA^{2n}$  for any  $n \in \mathbb{Z}$  and using (3.4), we get

$$A^{2n+1} = \sum_{t=0}^{n} {n \choose t} (-1)^{(n-t)(k+1)} v_k^t A^{t+1}, \tag{3.6}$$

which yields

$$u_{k(2n+1)} = \sum_{t=0}^{n} {n \choose t} (-1)^{(n-t)(k+1)} v_k^t u_{k(t+1)},$$

which yields

$$u_{k(2n+1)} = \sum_{t=0}^{n} {n+1 \choose t+1} (-1)^{(k+1)(n-t)} v_k^{t+1} u_{kt} + (-1)^{n(k+1)} u_k.$$

Thus the proof is complete.

Relation (3.5) can also be obtained by iterating  $A^{2n+1} = v_k A^{2n} + (-1)^{k+1} A^{2n-1}$ . Thus we get

$$A^{2n+1} = v_k A^{2n} + (-1)^{k+1} A^{2n-1}$$

$$= v_k A^{2n} + (-1)^{k+1} (v_k A^{2n-2} + (-1)^{k+1} A^{2n-3})$$

$$\vdots$$

$$= v_k \sum_{n=0}^{n} \left( \sum_{t=0}^{n} {n-t \choose p} \right) (-1)^{(k+1)(n-p)} v_k^p A^p + (-1)^{(k+1)(n+1)} A^{-1}.$$

From [20], it is well known that

$$\sum_{t=0}^{n} \binom{n-t}{p} = \binom{n+1}{p+1},$$

so we obtain

$$A^{2n+1} = \sum_{p=0}^{n} {n+1 \choose p+1} (-1)^{(k+1)(n-p)} v_k^{p+1} A^p + (-1)^{(k+1)(n+1)} A^{-1}. \quad (3.7)$$

From (3.7), we get (3.5).

Theorem 6. For n > 0 and  $t, s \in \mathbb{Z}$ ,

$$u_{k(tn+s)} = \sum_{p=0}^{n} {n \choose t} (-1)^{(n-p)(k+1)} v_k^p u_{k((t-2)n+s+p)}$$
 (3.8)

*Proof.* We consider the following matrix relation:

$$A^{tn+s} = A^{n(t-2)+s} A^{2n} = A^{n(t-2)+s} \sum_{p=0}^{n} {n \choose p} (-1)^{(n-p)(k+1)} v_k^p A^p$$
$$= \sum_{p=0}^{n} {n \choose p} (-1)^{(n-p)(k+1)} v_k^p A^{(t-2)n+s+p}$$

which gives us (3.8). Thus the proof is complete.

**Theorem 7.** Let k be an odd integer and p > 0,

$$u_{k(pn+1)} + u_{kpn} = v_k \sum_{t=1}^{pn} u_{kt} + u_k.$$
 (3.9)

*Proof.* For p > 0, consider

$$A^{pn} - I = (A - I)(A^{pn-1} + A^{pn-2} + \dots + A^2 + A + I).$$
 (3.10)

Thus

$$(A+I)(A^{pn}-I) = (A^2-I)(A^{pn-1}+A^{pn-2}+...+A^2+A+I)$$
  
=  $v_k A(A^{pn-1}+A^{pn-2}+...+A^2+A+I)$   
=  $v_k \sum_{t=1}^{pn} A^t$ .

Equating the (2,1)-entries of this matrix relation, we get equation (3.9). This completes the proof.

Theorem 8. For n > 0,

$$v_k \sum_{t=1}^n u_{2kt} = \begin{cases} u_{k(2n+1)} + u_k + 2 \sum_{t=1}^{n-1} u_{k(2t+1)} & \text{if } k \text{ is even,} \\ u_{k(2n+1)} - u_k & \text{if } k \text{ is odd,} \end{cases}$$
(3.11)

and

$$v_k \sum_{t=1}^{n} u_{k(2t-1)} = \begin{cases} u_{2kn} + 2 \sum_{t=1}^{n-1} u_{2kt} & \text{if } k \text{ is even,} \\ u_{2kn} & \text{if } k \text{ is odd.} \end{cases}$$
(3.12)

*Proof.* By the recurrence relation of  $\{A^n\}$ , we can write

$$v_k \sum_{t=1}^n A^{2t} + (-1)^{(k+1)} \sum_{t=1}^n A^{2t-1} = \sum_{t=1}^n A^{2t+1}$$
$$v_k \sum_{t=1}^n A^{2t} + (-1)^{(k+1)} (A + \sum_{t=1}^{n-1} A^{2t+1}) = \sum_{t=1}^{n-1} A^{2t+1} + A^{2n+1}$$

Considering required entries of the equation just above, the proof is complete.  $\hfill\Box$ 

For arbitrary integers p and q such that  $p^2 + 4q \neq 0$ , the sequence  $\{w_n\}$  is defined by

$$w_n = pw_{n-1} + qw_{n-2}$$

for  $w_0 = a$ ,  $w_1 = b$  and for n > 1.

In [10], the authors considered the sequence  $\{w_n\}$  and gave the following result:

$$w_n(a,b,p,q) = a \sum_{t=0}^{\lfloor n/2 \rfloor} (-1)^t {n-t \choose t} p^{n-2t} q^t + (b-pa) \sum_{t=0}^{\lfloor (n-1)/2 \rfloor} (-1)^t {n-t-t \choose t} p^{n-1-2t} q^t (3.13)$$

Then we have the following result.

Corollary 2. For n, k > 0,

$$u_{kn} = u_k \sum_{t=0}^{\lfloor (n-1)/2 \rfloor} {n-1-t \choose t} (-1)^{t(k+1)} v_k^{n-1-2t}$$

Proof. The proof directly follows from (3.13).

Let C be an arbitrary  $2 \times 2$  matrix, T and D denote the trace and determinant of C, respectively. For the distinct eigenvalues  $\alpha$  and  $\beta$  of matrix C, the following result can be found in [18, 6]:

Lemma 1. If

$$z_n := \tfrac{\alpha^n - \beta^n}{\alpha - \beta} = \tfrac{1}{2^{n-1}} \sum_{m=0}^{\lfloor (n-1)/2 \rfloor} \binom{n}{2m+1} T^{n-2m-1} \left(T^2 - 4D\right)^m,$$

then  $C^n = z_n C - z_{n-1} DI_2$ , where  $I_2$  is the identity matrix of order 2.

As a consequence of Lemma 1, we obtain that

$$u_{kn} = \frac{u_k}{2^{n-1}} \sum_{i=0}^{\lfloor (n-1)/2 \rfloor} {n \choose 2i+1} v_k^{n-2i-1} \left( v_k^2 - 4 \left( -1 \right)^k \right)^i. \tag{3.14}$$

From also [18], let g be a complex number such that  $g^2 + Tg + D \neq 0$ ,  $g \neq 0$  and let n be a positive integer. Then

$$C^{n} = \left(\frac{gD}{g^{2} + Tg + D}\right)^{n} \sum_{t=0}^{2n} \sum_{i=0}^{t} {n \choose i} {n \choose t-i} \left(\frac{D}{g^{2}}\right)^{i} \left(\frac{g}{D}\right)^{t} C^{t}. \tag{3.15}$$

Therefore we get the following result of equality (3.15).

**Theorem 9.** For n > 0 and any every complex number g different from 0, 1/2 and  $\left(v_k \pm \sqrt{v_k^2 + 4(-1)^{k+1}}\right)/2$ ,

$$u_{kn} = \frac{g^{n}(-1)^{kn}}{(g^{2} + v_{k}g + (-1)^{k})^{n}} \sum_{t=0}^{2n} \sum_{i=0}^{t} {n \choose i} {n \choose t-i} (-1)^{k(i-t)} g^{t-2i} u_{kt}.$$

Let the  $k \times k$  companion matrix is as follows:

$$A_k = \begin{bmatrix} c_1 & c_2 & \dots & c_{k-1} & c_k \\ 1 & 0 & \dots & 0 & 0 \\ 0 & 1 & \dots & 0 & 0 \\ \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & \dots & 1 & 0 \end{bmatrix}.$$

Consider the kth order recurrence  $\{z_n\}$  defined by  $z_n = c_1 z_{n-1} + c_2 z_{n-2} + \ldots + c_k z_{n-k}$  for n > k-1 and  $z_i$ 's are arbitrary for  $0 \le i \le k-1$ . Thus it follows that

$$[z_{n+k-1}, z_{n+k-2}, \dots, z_n]^T = A_k^n [z_{k-1}, z_{k-2}, \dots, z_0]^T.$$

Thus the power  $A_k^n$  determines the solution to the recurrence  $\{z_n\}$  in terms of the initial conditions  $z_0, z_1, \ldots, z_{k-1}$ .

We find the following Theorem in [4].

**Theorem 10.** The (i,j) entry  $a_{ij}^{(n)}$  in the matrix  $A_k^n$  is given by the following formula:

$$a_{ij}^{(n)} = \sum_{(t_1, t_2, \dots t_k)} \frac{t_j + t_{j+1} + \dots + t_k}{t_1 + t_2 + \dots + t_k} \times {t_1 + t_2 + \dots + t_k \choose t_1, t_2, \dots, t_k} c_1^{t_1} \dots c_k^{t_k}$$
(3.16)

where the summation is over nonnegative integers satisfying  $t_1 + 2t_2 + \ldots + kt_k = n - i + j$  and the coefficients in (3.16) is defined to be 1 if n = i - j.

When  $a_1 = v_k$  and  $a_2 = (-1)^{k+1}$  in the sequence  $\{z_n\}$  and considering the recurrence  $\{u_{kn}\}$  and its companion matrix, we give the following Corollary.

Corollary 3. For n, k > 0,

$$u_{kn} = u_k \sum_{(t_1, t_2)} {t_1 + t_2 \choose t_1, t_2} v_k^{t_1} (-1)^{t_2 k}$$

where the summation is over nonnegative integers satisfying  $t_1 + 2t_2 = n - 1$  and the coefficients in (3.4) is defined to be 1 if n = i - j.

Similarly one can find the basic multinomial formula for kth order linear recurrences in [8]. Also applying the results of recent studies [2, 18] on the similar topics, many various combinatorial representations for the recurrences  $\{u_{kn}\}$  and  $\{v_{kn}\}$  can be derived.

We should note that one can apply many earlier results for our matrix A to obtain some different results. Also considering the results of the present paper, many analogue formulas for the generalized Lucas sequence  $\{v_{kn}\}$  can be derived by considering and extending the simple relation between the vector of Lucas sequence and generating matrix of Fibonacci sequences:

$$\left[\begin{array}{c}L_{n+1}\\L_n\end{array}\right] = \left[\begin{array}{cc}F_{n+1} & F_n\\F_n & F_{n-1}\end{array}\right] \left[\begin{array}{c}1\\2\end{array}\right].$$

#### ACKNOWLEDGEMENTS

The authors would like to thank the referee for a number of helpful suggestions for improving the present paper.

### REFERENCES

- K. Ardakov, Powers and other functions of 2 x 2 matrices, Math. Gaz. 81 (1997), 434-437.
- [2] H. Belbachir, Linear recurrent sequences and powers of a square matrix, Integers: Electronic Journal of Combinatorial Number Theory, 6 (2006), A12, 17 pp.
- [3] N. H. Bong, Fibonacci Matrices and matrix representation of Fibonacci numbers, Southeast Asian Bull. Math. 23 (1999), 357-374.
- [4] W.Y.C. Chen and J.D. Louck, The combinatorial power of the companion matrix, Linear Algebra Appl, 232 (1996) 261-278.
- [5] R. E. Hartwig, Note on a linear difference equation. Amer. Math. Monthly 113 (3) (2006) 250-256.
- [6] P. Haukkanen, Binomial formulas for specially multiplicative functions. Math. Student 64 (1-4) (1995) 155-161.
- [7] P. Haukkanen, Some characterizations of specially multiplicative functions. Int. J. Math. Math. Sci. (37) (2003) 2335-2344.
- [8] P. Haukkanen, A multinomial formula for rational arithmetic functions of order (r, 0). Math. Student 64 (1-4) (1995) 69-72.

- [9] A. F. Horadam, A generalized Fibonacci sequence, Amer. Math. Monthly 68 (1962), 455-459
- [10] A. Horadam, Basic properties of a certain generalized sequence of numbers, Fibonacci Quart. 3 (3) (1965), 161-176.
- [11] A. Horadam, Tschebyscheff and other functions associated with the sequence  $w_n(a, b; p, q)$ , Fibonacci Quart. 7 (1969) 14-22.
- [12] J. Rutkowski, On recurrence characterization of rational arithmetic functions. Funct. Approx. Comment. Math. 9 (1980), 45-47.
- [13] E. Kilic, The linear algebra of the Pell matrix, Bol. Soc. Mat. Mexicana, 11 (3) (2005), 1-12.
- [14] E. Kilic, Sums of generalized Fibonacci numbers by matrix methods, Ars Combin. 84 (2007), 23-31.
- [15] E. Kilic, Sums of the squares of terms of sequence  $\{u_n\}$ , Proc. Indian Acad. Sci. Math. Sci. 118 (1) (2008), 27-41.
- [16] E. Kilic and P. Stanica, Factorizations and representations of second linear recurrences with incides in aritmetic progressions, Bol. Mex. Math. Soc. (in press).
- [17] T. Koshy, Fibonacci and Lucas Numbers with Applications, A Wiley-Interscience Publications, New York, 2001.
- [18] J. Mc Laughlin, Combinatorial identities deriving from the nth power of a  $2 \times 2$  matrix, Integers, 4 (2004) A19, 15pp.
- [19] J. Mc Laughlin and N. J. Wyshinski, Further combinatorial identities deriving from the nth power of a 2 x 2 matrix, 154 (8) (2006) 1301-1308.
- [20] J. Riordan, Combinatorial identities, John Wiley, New York, 1968.
- [21] V. Laohakosol and N. Pabhapote, Properties of rational arithmetic functions. Int. J. Math. Math. Sci. 2005, no. 24, 3997-4017.
- [22] M. E. Waddill, Matrices and generalized Fibonacci sequences, Fibonacci Quart. 12 (1974), 381-386.
- [23] K. S. Williams, The nth power of a  $2 \times 2$  matrix, Math. Mag. 65 (5) (1992), 336.
- <sup>1</sup> TOBB University of Economics and Technology Mathematics Department 06560 Sogotozo Aankara Turkey

E-mail address: ekilic@etu.edu.tr1

<sup>2</sup>KOCAELI UNIVERSITY MATHEMATICS DEPARTMENT 41380 İZMIT KOCAELI TURKEY *E-mail address*: neseomur@kocaeli.edu.tr<sup>2</sup>

<sup>3</sup>KOCAELI UNIVERSITY MATHEMATICS DEPARTMENT 41380 İZMIT KOCAELI TURKEY E-mail address: turkery@kocaeli.edu.tr<sup>3</sup>

# **NEWTON'S IDENTITIES**

## FERNANDO SZECHTMAN

The elementary symmetric polynomials in the n commuting variables  $X_1,...,X_n$  are defined

$$\sigma_1 = \sum_{1 \le i \le n} X_i, \ \sigma_2 = \sum_{1 \le i < j \le n} X_i X_j, \ \sigma_3 = \sum_{1 \le i < j < k \le n} X_i X_j X_k, ..., \ \sigma_n = X_1 X_2 \cdot \cdot \cdot X_n.$$

For  $k \geq 1$  let  $\rho_k = X_1^k + X_2^k + \cdots X_n^k$ . With this notation Netown's identities read

$$0 = \rho_k - \sigma_1 \rho_{k-1} + \sigma_2 \rho_{k-2} - \sigma_3 \rho_{k-3} + \cdots \cdots + (-1)^{k-1} \sigma_{k-1} \rho_1 + (-1)^k k \sigma_k, \quad 1 \le k \le n, (1)$$

$$0 = \rho_{j+n} - \sigma_1 \rho_{j+n-1} + \sigma_2 \rho_{j+n-2} - \sigma_3 \rho_{j+n-3} + \cdots \cdots + (-1)^{n-1} \sigma_{n-1} \rho_{j+1} + (-1)^n \sigma_n \rho_j, \quad j \ge 1 \quad (2).$$

Various classical proofs are known, and new ones are still being published. The most recent seems to be [M]. We furnish the following extremely simple proof.

Let f denote the right hand side of (1). Then f is symmetric and homogeneous of degree k. Thus f = 0 if and only if no monomial  $X_1^{e_1} X_2^{e_2} \cdots X_n^{e_n}$ , with  $e_1 + e_2 + \cdots + e_n = k$  and  $e_1 \geq e_2 \geq \cdots \geq e_n$ , appears in f. The only such monomials possibly present in f are

$$X_1^k, X_1^{k-1}X_2, X_1^{k-2}X_2X_3, ..., X_1^2X_2X_3 \cdots X_{k-1}, X_1X_2X_3 \cdots X_k.$$

Now  $X_1^k$  appears once in  $\rho_k$  and  $\sigma_1\rho_{k-1}$ , without appearing in any other summand of f. As  $\rho_k$  and  $\sigma_1\rho_{k-1}$  have opposite signs in f, the coefficient of  $X_1^k$  in f is 0. Likewise if  $1 \leq i \leq k-2$  then  $X_1^{k-i}X_2 \cdots X_{i+1}$  appears once in  $\sigma_i\rho_{k-i}$  and  $\sigma_{i+1}\rho_{k-i-1}$ , and does not appear in any other summand of f. Since  $\sigma_i\rho_{k-i}$  and  $\sigma_{i+1}\rho_{k-i-1}$  have opposite signs in f, the coefficient of  $X_1^{k-i}X_2 \cdots X_{i+1}$  in f is 0. Finally  $X_1X_2X_3 \cdots X_k$  appears once in  $\sigma_k$ , k times in  $\sigma_{k-1}\rho_1$ , namely in the forms  $(X_2X_3 \cdots X_k)X_1, (X_1X_3 \cdots X_k)X_2, ..., (X_1X_2 \cdots X_{k-1})X_k$ , and does not appear in any other summand of f. The definition of f ensures that the coefficient of  $X_1X_2X_3 \cdots X_k$  in f is 0.

For completeness we include the standard proof of (2). Let X be another variable and let  $g(X) = (X - X_1)(X - X_2) \cdots (X - X_n)$ . According to the very definition of the elementary symmetric polynomials we have  $g(X) = X^n - \sigma_1 X^{n-1} + \cdots + (-1)^{n-1} \sigma_{n-1} X + (-1)^n \sigma_n$ , so

$$0 = g(X_i) = X_i^n - \sigma_1 X_i^{n-1} + \dots + (-1)^{n-1} \sigma_{n-1} X_i + (-1)^n \sigma_n, \quad 1 \le i \le n.$$

Multiplying this by  $X_i^j$  and adding the resulting n equations, we obtain (2).

[M] J. Minác, Newton's identities once again!, Amer. Math. Monthly 110 (2003), 232-234.